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Foundations of Math I
Final Exam Study Guide

1.} Water is drained from a 10-foot cylindrical tank
at a constant rate,

¢ The depth of the water is decreasing find the width. wtl
linearly. . . 0
o At PM, the water depth was 4.5 feet. | A. 9 inches B. 4 inches W
. At‘zr'%t) IZM the water depth was 3.9 feet. WH
0,4.5) (2.5,%.4 -
If tlge 11near pattern contmues, what will the depth . A !-—Iuoj 1\22 '_?; g
(in feet) of the water be at 5406 PM? C. 9 inches D. 3 inches e
34-4.5 _-0.b_-& 3.5 Guo= 2.
55-6 25 5 . q 4
Yz -L, x+L| 5 w=3
2.5

2.) The length of rectangle is six inches more than its
width. If the perimeter of the rectangle is 24 inches,

3.) Write the inequality that matches the graph

belowcaake d \\V\ @
D
S\r\aded 0@%

Eea

4.} “Three times the difference of a number and 9 is 18
more than 8 times the number.” What is fwice the
number?

3(%=9)=\8+ 3%

AX =27 .,—\%’4’%’34
ﬂ%‘%
TSy -2 118
t27 t27
mgx:ii
=5 -5
X ==Y
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5.) Thls sutnmer, Shane plans to _]011’1 a swim club

Shane does not want to spen d Iiote than
hat is the maximum number of times he

can visit the pool this summer? ﬁgo eoch _ H (/1)
Ux+4o< \20
90 4o . o5 4><tlt%4 ©O
oYY £
) % Vi Sﬁ"S %Bfé quZ
¥ £ 20

6.) A company charge@@%@ggélﬂlé'go rent a
boat. Destiny and Janay want to reit a boat but do not
want to spend more than § 30 What is the
maximum number of hoursThe girls can rent a boat?

X £10.5




7.) The area of a cone is found using the
formula, 4 = %’1 where B represents the area of

the base and h represents the height. Write a
formula that represents the height h of the cone in
terms of the area and base.

P2

ah=2E Bh=A 207
' A ' 3B B
h=

b

D.h a

8.) Jack stopped at the gas station to fill his car with
gas.

The truck can hold 26 gallons of gas.

The tank had 4 gallons of gas in it when Jack
stopped.

The gas pump fills at a rate of 8 gallons per
minute

Write an equation that represents the amount of gas, g,
in the car t minutes after Jack starts pumping the gas.

=Bt +Y

9.) Kiera and Trina joined a gym. The gym offers
two different payment plans. Kiera chose Plan 1
and pays $40 a month and no fee to join. Trina

10.) What is the value of x in the equation
flx)= f + 7, if the value of f(x) = 12?

chose Plan 2 and pays $15 a month, plus a $75 |2 = K 3+
joining fee. Write two equations that model g
Kiera’s total payments, t,, and Trina’s total al 1 ‘X v
payments, ¢, after m months. (o 5 - (
Kiexo— 1Mool q? q LD
Lrdom {2 18mtTS (X =20
11.) Identify the domain of the relation. 12.) What is the average rate of change from x =
{_11 4'}1 {4'1 2}, {3:4’}: {_1: 2}: {0: 3} —~1tox =2?
Pomann s o X 7AN o T 75N
—\10\5,'—}% Vallgy Ty (3 )] -2 1 \\6:/} 13
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13.} Identify the equation of the line graphed

below. —
-

14.) Which situation could be modeled by the function
f(x) =50x 4+ 90?

A. Gene has $50, and the MP3 player he wants costs
$90. Let y equal the amount of money he needs to be

o c=
% able to purchase the player.
b " \ / B. Alawyer charges $50 for the initial consultation and
7‘i $90 for every additional hour. Let y equal the total
P amount the lawyer charges, in dollars.
})el makes a $90 down payment, and then makes
' 50 monthly payments on a computer. Let y equal the
f total amount he paid for the computer.
/
P D. Shawna wants to buy new speakers for her car. There
y 1 is a $50 labor charge for installation, plus the $90 cost
L of the speakers. Let y equal the amount she paid for the
new speakers, including the installation.
A 3x+5y=5 B.3x -5y =5
3% - 3% -2 )( -2y
3’ SRFS =-2Xt5
S 5 — 5 =5 -5
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-| through the points (—4, 3) and (2, —6)?

— -

"y o— .

‘//

C.5x+3y=3 (D.5x -3y =3)
15.) Which is the equation of the line that passes

Ay=-2x+3

WT-3lax-3

16.) Trapezoid JKLM is shown below. The coordinates
of J, K, L, and M are (—5,=7),(5,—7),(3,4) and (-2, 4),
respectively.

bt 20 b Sk e 4o U s o

np,{ G el a r ;‘r
T 4, EEAE
=4 5
What is the equation of the line JM? M 3(X+ )
’“H)K'ﬂ'-B-j \"‘Y:[?;%K%%
d=zrT3 =

17.) Isaac rented a movie but forgot to return it on
time. The table below shows the total amount of
money that Isaac owed after different numbers of

days. © V.50
Z’@;l;ﬁg;ff Total Owed (y) ) 2,00
0 2,/ 2 $4.50 T4 50
.50 \ <4 5 $9.00 >1. 50
2. 6 $10.50 > 0
ér 8 $13.50 2 0

Which function models the amount of money

Isaac owed after x days?

A y = 150x + 1.75 B.y = 1.50x + 3

D.y=150x +1.50

C.y = 1.50x

18.) A sequence is shown below:
-7,-9,—11,-13
:\g :../2 et
Write an explicit formula can be used to determine the
nth term of the sequence.

?Uﬁ? =z ln-)
-2n+2-1

E[n\i-Z n -5

—_

—
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19.) John is saving to buy a television that costs

John Sk§200saved. He plans
to save an additional($50/each week} Write a
linear equation to model John’s savings.

1 250 = 5 OX ¥ 200

s

e

DKS

/e-— X '
B. the injtial amount in Liz’s bank account

20.) The function g(x) = 20x + 100 models the
balance of Liz’s savings account after x months. What is
thejmeaning of the y-interceptiof the function?

A. the initial amount Liz starts with each year in the
account

C. the additional amount Liz saves per month

D. the additional amount Liz saves per year




21.) The function below shows the cost of a
hamburger with different numbers of toppings (t).
f(t) = 1.90 + 1.40¢t. What is the y-intercept, and
what does it mean?

$190 s y-inteccept T

A f() =12+ 15(r-1)) B.f(n)=15n+12

T+ (epreberds Hhe, cost
of oo hmbur%ar W NE
oPPingd.

22.) Which of the following expressions represents the
sequence 12,13.50,15,16.50 written explicitly forn =
1,2,3,..°7

Cfm)y=12+n D.f(n)=12n

23.) Solve the inequality:
3x—6 £ ~2x+4
+ZX 12X
SX-bsY
6t
5XZ1o
S 5

:Y\ﬁls ¢

24.) At SeptemberFest, the first dance of the year, the
Students’ Council charged $3 for couples and $2 for
singles. If 365 tickets were sold and the total receipts
were $925, which pair of equations would determine

the number of each ticket sold? }( Cou ples
\1 = (\-?l%
A x—y =365 C.3x + 2y = 36
3x + 2y = 925 X +y =925
B.x +y =925 D.3x + 2y = 925
X—y =365 x+y =365

25.) The total cost, in dollars, of membership in a
basketball league is given by the function m(x) =
25x + 50, where m is the number of months a
person is a member. In dollars, how much is the
cost of membership for two years? 2408 = 2 q

26.) Which of the following is equ1va1ent to the

equation 4x + 7y = z"
e ‘]\‘j

| A x=dz- QBVi& @

25 (20\\+ S0 TG y=72+98x X = Z- —":5 D. y=&*%
B
27.) A manufacturer makes two kinds of computers, laptops and desktops. The company has equipment to

manufacture any number of laptopsjup td 6oG¥per month |

However, the company can manufacture ‘WW‘

[;1%%1_'3 to manufacture €itheér type pf computer and
ich system of Inequalities models this scenario?

the manufacturer has available(25,000 ours per month|]

pr any number of |d€SKTGps p per month.
omputers of both kinds per month T all. It takeg 3

*=loptops  Y=ded

: -
x < 600 X <600 x < 600 x = 600
y < 800 y < 800 y < 800 y > 800

X +y < 1000 X +y <1000 x +y = 1000 x +y > 1000

35x + 35y = 25000 35x + 35y < 25000

35x + 35y = 25000 35x + 35y = 25000

28.) Find the y-coordinate of the systems of 29.) What value of x satisfies the equation
equations: 2 5x—3)-2x+1) =4
4x + 2y =10 p-Yy= 5‘7&.@*2%(2)5"\
2(x -y =13) ~ -l == 3\;(-—_\"1"1-—\
¥ 2 rad=o eigis YA 40
ZA-2u=2b - =1
O%=25 - Sh=2)
¥ =lo B=-1 _ EX:’:”\ l




30.) MATCHING - Three systems of equations are in the table below. Draw a line to identify the choice that

describes the number of solutions of each system.

One Solution

5o % ~

5(2x+8y=6) )‘%;Q:j =30
2(=5x =20y = ~15)-1 oY= 20
~. 40 ; l
—5>«+33;q -3x+3y=4
3K ~39=-9 -3(x+y=13)

~ 1S + IOB:-IO‘SGx -2y = 2) /

-’15&—\5\.':302,[’535__531:10\ C"

L~

&
] 74> Infinitely Many Solutions
TN
2 .- L‘b

T

No Solution

"'5}-3::20
Y-y 2X-2(-h=2 3Ix=-
3X +8=2 X=-2

31.) Two stores have movies to rent,

+ The first store charges a $12.00 per month
membership fee plus $2.50 per movie rented.

charges $4.50 per movie rented,

What is the minimum number of movies a person
would need to rent in a month for the first store to
be a better deal? —?

T MAKE TARLE TD COMBARE

» The second store has no membership fee but ¢

32.) Ann and Betty together have $60. Ann has $9 more
than twice Betty’s amount. How much money does Ann

have? 0.z Ann  \o= Bokty

Ato=00  (A+20)+b=(,n

A=+ 20 __21"3\0-‘-(.00
-9

a=942(y)  o6=ar

N =y e
> B

33.) The function a(n) = 7n — 3 represents the
| value of the nth term in a sequence. What is the
sum of the second and the sixth term in the

34.) The width of a rectangle is 45' its length. If the
perimeter is 252 ¢m. Find the dimensions of the

218+ X = Ro
5
BB+ X = 40O 822’
X B2

seqzler)lce? " 1 439 rectangle. 7 ,Q =252 Lon 3‘\4\ =17 Gy
(2)-3= J 2 jr - . L

i B Wittt = 54 o
HUW)-3=393 [59] i-t’dﬁﬂﬁ L=712

W =T2M)

35.) Allyson has taken four tests and made 82,77, | 36.) Two functions are shown below.
75, and 84. Allyson really wants to make a B in the
class, which means she needs an overall average of fl) = 4x + 1 6(0,9\{\
80. What does Allyson need to make on the final c ngif
to get a B in the class? g(x) = —2x+4 O 2

X X0
What is the value of x where the graphs of {(x) and g(x)

intersect? l
Xe =
Z_

37.) A function is shown below:

What is the value of h(20)? -

h(x) = 14.35 - 0.7x

214,35 - 0.7 (20)
hlz0)=

0.%5
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| {14.50
2 |\
3 11950
4 \z2Z
5 \24,50
b__\27
Q23565
Q |32
9 24.50
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38.) The following graph represents Karen’s marathon.
| Karen's Marathon

30
27 ¥
- 24

Distance in Miles
P Y
=]

":23453?&913 6\
Tims in Hours

A. 0 -2 hours ﬂ,

During which interval did Karen have thate of change? G Qo( O)Qf ;
B. 1 - 3 hours % (??3—4hours)\ &

39.) Which system of inequalities is represented by the graph below?

L'}

¥ Man

E:
\I
N WD
T

8) y<io42 b) y2iz+2
y > e+ 1 y < 241

) y<ir-2 ygw§x+-2
y2Adr+b y>ir-1

40.) Circle the first incorrect step in solving the equation below.
3-2(x+4)=-17 o
3-2x—8=-17  WhaN Qombm'ﬂa

d -9 e
TX = =22 '20?\: shootdh 08,
x =11 5 hD"\‘ 5




